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Series and Parallel Resonant Circuits
*Uncomment the appropropriate sections to alter the circuits
*and to view the results.

*series resonant circuit

*V_src vin gnd ac 1.0 sin ;1lv ac source, no dc value

*r_src vin tiel 1.0 ;1 ohm resistor to sense current

*c_net tiel tie2 2nf ;2nf network cap

*r_cap tiel tie2 10Meg ;10Meg ohm resistor, models capacitor leakage
*1_net tie2 tie3 1uH ;1luh network inductor

*r_ind tie3 gnd 0.6 ;0.6 ohm, models inductor resistance

*parallel resonant circuit

V_src vin gnd ac 1.0 sin ;1lv ac source, no dc value

r_src vin tiel 10k ;10k ohm resistor to sense voltage

r_cap tiel gnd 10Meg ;10Meg ohm resistor, models capacitor leakage
c_net tiel gnd 500pf ;500pf network cap

1l_net tiel tie2 2.5uH ;2.5uh network inductor

r_ind tie2 gnd 0.6 ;0.6 ohm, models inductor resistance

*T-line parallel resonator

*V_src vin gnd ac 1.0 sin ;1v ac source, no dc value

*r_src vin tl_in 10k ;10k ohm resistor to sense voltage
*t_line tl_in gnd tiel tiel z0=50 F=5Meg NL=.25 ; tline resonanator
*r_dummy tiel gnd 1G irequired DC path to ground for spice

.control

set hcopydevtype=postscript
set hcopypscolor=0

set colorO=rgb:f/f/e

set colorl=rgb:0/0/0

ac lin 1000 1m 10Meg

*parallel circuit measurments

plot vm(tiel) vm{vin, tiel) ;V across and relative I through resonator
hardcopy parallel_circuit.ps vm(tiel) vm(vin, tiel)
*series circuit measurments

*plot vm(tiel) vm(vin, tiel) ;V across and relative I through resonator
*hardcopy series_circuit.ps vm(tiel) vm(vin, tiel)

*T-line circuit measurments

*plot vm(tl_in) vm(vin, tl_in) ;V across and relative I through resonator
*hardcopy tline_resonator.ps vm(tiel) vm(vin, tiel)

.endc

.end
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